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1. This question paper consists of THREE (3) parts : PART A (20 questions) 
: PART B (10 questions) 
: PART C (03 questions) 

2. Answer ALL questions from PART A, PART B and PART C. 
 i. Answer PART A in the True or False Answer Sheet.  
 ii. 

iii. 
Answer PART B in the Objective Answer Sheet. 
Answer PART C in the Answer Booklet Sheet. 

3. Please check to make sure that this examination pack consists of: 
 i. The Question Paper  
 ii. An Answer Booklet  
 iii. 

iv. 
v. 
vi. 

An Objective Answer Sheet 
A True or False Answer Sheet 
Appendix 1(1), Appendix 1(2), Appendix 1(3), and Appendix 1(4)  

  Appendix 2(1) 
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PART A: TRUE/FALSE 
 

     

1. (1 point) 
In making decision for mutually exclusive projects, only one project from many should 
be considered.  

 

2. (1 point) 
Capital budgeting techniques can be categorized into non discounting cash flow 
technique only.  
 
 

3. (1 point) 
 Opportunity cost is a cost that has been incurred and can be recovered regardless the    
      outcome of a decision.  
 

4. (1 point) 
There are three steps in capital budgeting evaluation process.  

 

5. (1 point) 
The discounted cash flow methods consist of net present value and payback period.  
                                                  

6. (1 point) 
The advantage of net present value is simple and easy to understand and compute.  
 
 

7. (1 point) 
Project is rejected if the Internal Rate of Return (IRR) is less than the cost of capital.  
 
 

8. (1 point) 
The payback period technique is consistent with the shareholders’ wealth 
maximization.  
 
 

9. (1 point) 
There are several factors that affect the cost of capital such as earnings riskiness, 
debt-equity mix, firm’s financial health and relative interest rate levels. 
 
 

10. (1 point) 
Bonds, debentures, leases, certificates, bills of lading and promissory notes are 
examples of debt instruments. 
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11. (1 point) 
Preferred share is a class of ownership in a corporation with a higher claim on its 
assets and earnings than common stock 

 

12. (1 point) 
Preferred share holder can choose board of director. 
 

 
13. (1 point) 

Preferred shares combine features of debt and equity. 
 
 

14. (1 point) 
Common share holder bears the least risk in organization. 
 
 

15. (1 point) 
Bond holder enjoys the highest return profit among all group of investors. 
 
 

16. (1 point) 
In the event of liquidation, common shareholders have rights to a firm’s assets only 
after bondholders, preferred shareholders and other creditors are paid in full. 
 
 

17. (1 point) 
Irredeemable bond only involved cost of debt before tax. 
 
 

18. (1 point) 
The earnings available to common shareholders can be retained in whole or part within 
the firm and used to finance future investments called as external common equity. 
 
 

19. (1 point) 
Internal common equity is new common stock that may be issued by a firm to raise 
financing for its investments. 
 

20. (1 point) 
 WACC refers to the average of the firm’s cost of funds from all investors where each 
 of the sources of financing are proportionate accordingly. 
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PART B: MULTIPLE CHOICE 
 
 

 1. (1 point) 
Which term best describes the principle that the money you have today is worth more than 
the same amount of money that you have in the future?   
 
A. Cost of capital  
B. Risk and return 
C. Capital budgeting 
D. Time value of money 

 

2. (1 point) 
Which statement best describes the concept of compound interest? 
 
A. Interest earned on interest 
B. Interest earned on an investment 
C. Interest earned on a discounted investment 
D. Interest earned over the life of an investment 

 
 

3. (1 point) 
What is the present value factor at an interest of 8%, 5 years? 
 
A. 0.6768 
B. 0.6806 
C. 1.4693 
D. 1.4775 

 
 

4.   (1 point) 
What is the factor from the time value of the money table (FVIF 5%, 8)?  
 
A. 0.6768 
B. 0.6806 
C. 1.4693 
D. 1.4775 

 
 

5. (1 point) 
According to the non-annually compounding interest, what is the period for 2 years, 
compounded quarterly? 
 
A. 2 
B. 4 
C. 8 
D. 24 
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6. (1 point) 
PV = FV (PVIF i/m, nxm) 

Figure 1 
 
 

Which of the following statements best describes the formula above? 
 
A. Future value of cash flow compounded annually 
B. Present value of cash flow compounded annually 
C. Future value of cash flow compounded non-annually 
D. Present value of cash flow compounded non-annually 

 

7. (1 point) 
You are considering several alternative investments that promise you a different return to be 
received in the future. What is the concept should you use to choose the best investment 
alternative? 
 
A. Future value 
B. Market value 
C. Intrinsic value 
D. Present value 

 

8. (1 point) 
Which formula can be used to find the present value of RM5,000 expected to be received in 
4 years from today with 10% discount rate? 
 
A. PV = 5,000 x PVIF 10%,4 
B. PV = 5,000 x PVIF 4%,10 
C. FV = 5,000 x FVIF 10%,4 
D. FV = 5,000 x FVIF 4%,10 
 

9. (1 point) 
Which of the followings is NOT the function in the time value of money principles for financial 
managers?   
 
A. Make a business decision 
B. Determine the dividend policy   
C. Analyse the best investment alternative 
D. Calculate the expected cashflow from potential investment 

 

10. (1 point) 
Which of the following factors is not typically considered when calculating a company's 
Weighted Average Cost of Capital (WACC)? 

A) Cost of equity 
B) Cost of debt 
C) Cost of preferred share 
D) Book value of assets 
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PART C: STRUCTURED 
 

1. (10 points) 

Aizan plans to invest in the YANG BERJAYA unit trust which gives him a 5% return. 
Compute the total value of his investment involving RM150 deposit in Year 1, RM200 
deposit from Year 2 to 5, RM400 deposit in Year 6, RM350 deposit in Year 7, and RM500 
deposit from Year 8 to 9. 

 
 

2. (10 points) 
AMAR Berhad is considering two projects to expand their branches. Each projects requires 
an initial outlay of RM120,000,000. The firm required 8% of rate of return. The after-tax 
cash inflows associated with each project are shown in the following table:  

 
Project IPOH (RM) KUANTAN (RM) 
Year 1 20,000,000 50,000,000 

Year 2 40,000,000 50,000,000 

Year 3 65,000,000 50,000,000 

Year 4 80,000,000 50,000,000 

a. Compute: 

i. The payback period for both projects. (2.5 points) 

ii. The net present value for IPOH only. (3.5 points) 

iii. The internal rate of return for KUANTAN only. (3 points) 

b. Based on your answer in a (i) which project should AMAR Berhad choose and why? 
(1 point) 
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3. (10 points) 

AAM Berhad has decided to expand its business and RM 5 million worth of external   

funds are needed. There are three (3) sources of financing available: 

Source 1 
Issue 5% Preferred shares sold at RM100. Floatation cost is estimated at 10% of market 

price. 

 

Source 2 
Issue bonds that pay 8% interest and will mature in 10 years. The firm is planning to sell 

the bonds at 10% discount. The processing fee is 2% of the selling price. 

 

Source 3 
Issue common shares at RM20. The growth rate of the company is 5% and the recent 

dividend paid was RM4.00 per share. Floatation cost is estimated at 2% of the current price. 

  

The firm expects to have available RM2,000,000 of retained earnings in the coming year. 

The required rate of return for the expansion is 15%. Corporate tax rate is 25%. The 

company capital structure comprises of 20% for bond, 30% for preferred share and 50%   

for common equity. 

 

a. Compute: 

i. Cost of debt after tax. (5 points) 

ii. Cost of preferred share. (1 point) 

iii. Cost of internal equity. (1 point) 

iv. Cost of external equity. (1 point) 

 

b.  Compute WACC using internal equity. (2 points) 

 

 
 

END OF QUESTION PAPER 
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FORMULA LISTS 

 
ER = ∑ (P x R) 

SD = √  P (R-ER)* 

Pp = Initial investment / Constant annual cash flow 

Pp = Year before recovery + [ Unrecovered cost at beginning of year ) 

                                                       Cash flow during that year 

NPV = Total PV - Initial investment 

IRR = a% + [(a - b) / (a - c)]  x (c% - a%) 

PI = 1 + (NPV / Initial investment) 

Kd = CP + (Par - (CMP - Other Costs) / n) 

           (Par + (CMP - Other Costs) / 2) 

Kps = D/ CMP - Other Costs 

Ke = D1 / CMP + g 

Kne = D1 /(CMP- Other Costs) + g 

WACC = (Kd (1 - 1) × Wd) + (Ke x We) + (Kps × WPs) 

DOL = Contribution / EBIT 

DFL = EBIT / (EB/T - Interest) 

DOL = DOL X DFL 
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